XYZ,=100.93 , 100.0 , 64.68 iY
100

A=256,-8,)Y 1-69 6996Y,
B,=25B(b,~b,) Y 1 0
8, =3[ (X=X%.) /) ! 0 A
by=bylz/y 61G, ! g

8,=1, b,y =-0,4 1

%= 0,110, B_ = 1,300
noz=IAZ+B; T

6 OstwaldFarben (o)

von maximalem (m)C,, p

linearen Farbenraum (Cyg Y)QB ‘;/ .

Lichtart P40, Y, 10Q V =4

Name Bereich X,
R, 573775 7145 4355 Zoo o7 000" oo 4-9150
V) 498775 9101 95.54 654 04713 0.4947 576 468
G, 498573 2360 56.08 65 02746 0.6499 540 540
C, 380573 33.61 60.54 64.64 0.2116 0.3812493 600 Parameter:
B, 380_498 14.05 856 60.79 0.1685 0.1026 468 576 Y & Name

M, 573_498 81,37 48.01 60.84 04277 0.2524 540c540 f

oo e 1000 o408 035 0314 100 Lichtart P40
N, 380775403 40 258 03799 0.3764 4% Y,,~100 Y,=4
Z,380_77518.16 18.0 1164 0.3799 03764 18%
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